


https://www.tlv.com/global/NL/calculator/water-pressure-loss-through-piping.htmi7advanced=on

Vergelijking(en)
Ap = tledpSG p: density of water & d : Binnendiameter leiding (m)
o (1000 kg/m’) | : Leidinglengte (m)
v : Watersnelheid (m/s)
Ap: Drukverlies (Pa)
p o Wrijvingscoéfficiént
SG: Watergravitatie
deltap = v oy flow =v-A A = oppervlak slang binnenkant m2
2d flow= m2/s
_ flow _ flow
v = vE—
A 0.25-m-d°
2
el _ flow .SG
0.25~7T-d2
deltap =
2d

_ 0.81056946913870217155-SG- u~ﬂow2~l

deltap =
dS
p = 0.05 SG := 1000 flow := 2000 [/uur kl:=3.7-10 4
k1 tuned with calculator tool
flow 1 p s := flow d:=25 1;=30

flow”-u-1-SG-k1

d5

deltap(d, 1, flow) :=

deltap(25,30, flow) = 0.227

flow := 10,20.. 5000
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deltap(BAR) as fnction of flow at different diameter(mm)
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flow(deltap,d, 1) = |——2C
w1-SGk1

deltap =



flow as function of diameter at given delta p

1x10

/ /

9.5x10

/ /

9x10

/ /

8.5x10

/) /

810

7.5%10

7x10

6.5x10
flow(0.4,d,30)  ¢x10

flow(0.3,d,30) 5.5x10

flow(0.2,d,30) <10

flow(0.1,d,30) *+><10

4x10

3.5x10

3x10

\\

2.5x10

2x10

1.5x10

L S Y Y Y Y S Y S L Y S S S N S N VT N
N

1x10 L~
=

500










